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and graph the function.

Find the following for f(x)
a. Domainf)(!x;/ -S

b. Vertical Asymptote(s) >
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asymptote using limit notation.
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f. Analyze the end behavior using limit notation
g. Analyze the behavior near each vertical



and graph the function.
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Find the following for f{x)
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and graph the function.

Find the following for f(x)
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and graph the function.
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Find the following for f{x)
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and graph the function.

Find the following for f(x)

8.

== P-F-Fr-rFr-Fr-r-r-r-r
| I I I I I I 1 I 1 1 1 1 1 1 1
"= eF=F=F=F=F=F-P-F-F=F-F-F=F=F~F
I I I I I I I I I 1 1 1 1 1 1 1
"r=F-F-F-F-F-F-F-P-F-F-F-F-F-F-F~-F
I I I I I I I I I 1 1 1 1 1 1 1
- --F-F-F-F-F-pF-F-F-rF-F-r-r-r-r
I I I I I I I 1 I 1 1 1 1 1 1 I
k- -F-F-F-F-F-F-pP-F-F-F-F-F-F-F-F
| | | | | | | 1 | 1 1 1 1 1 1 1
k==l -F -k -F-F-F-k-F-F-F-F-F-F-F-F
I | | | | | | 1 I 1 1 1 1 1 1 1
k- -lm-F-F-F-F-F-k-F-F-F-F-F-F-F-F
I | | 1 | | | 1 I 1 1 1 1 1 1 1
k==l -F-F-F-F-F-pP-F-F-F-F-F-F-F-F
I | | 1 | | | 1 I 1 1 1 1 1 1 1
I | I 1 | | | 1 I 1 1 1 1 1 1 1
I O T
I | | 1 | | | 1 | 1 1 1 1 1 1 1
B e el el s et e S A e e sl el S S
| I I I I I I 1 I 1 1 1 1 1 1 1
B e e el s e S S A e L sl ol el el =
I I I I I I I I I 1 1 1 1 1 1 1
[ TR S T S, SR S S S Y ST SRy Syt Syl S Sy
I I I I I I I I I 1 1 1 1 1 1 1
B e el e il sl ol aie Sl ot ol SR SR SRy SR S
I I I I I I I 1 I 1 1 1 1 1 1 I
T T Sy
| | | | | | | 1 | 1 1 1 1 1 1 1
T S S S S S S
| | | | | | | 1 I 1 1 1 1 1 1 1
T S S S S S S
=
o
=
<
+~
2 =
Q
X m
g 5
VounY
an = .
£ 2 sS4
n f O
= g8 =
—
D) = =1 < =
m n.lu. _— = 1) m
—_ = > =
©n Q < -
~—~ = o
] m [} = m
+ S S .=
m [ O s —
2 2 | 29
m —_~ = 5] e
P RL = =
'~ = Q 1 Q
= - > o =
S 8§85 E% 3 L
— (0] o O
g = © 2 & N = N S
S 2 58 §8 M > N~ =&
E E E 28w S gt =&
o % = g g .H) = Ww
A > & A L0 << —=x <
< O o o O en

lim f(x)

x—

lim f(x)

x—

lim f(x)=

x—

lim f(x)

x—



